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& INSTRUCTIONS FOR CANDIDATES
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1. [Itis mandatory to fill one option for each question.

2. All questions carry equal marks.

3.  Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet, take out

the Answer Sheet and fill in the particulars carefully with Blue

Ball Point Pen only.

Please correctly fill your Roll Number in OMR Answer Sheet.

Candidates will themselves be responsible for filling wrong

Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A Wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. If you are not attempting a question then you have to darken

the cirele *5°. If none of the five circles is darkened, one third

(1/3) part of the marks of question shall be deducted.

After solving question paper, candidate must ascertain

that he/she has darkened one of the circles (bubbles) for

each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other eclectronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

hinvher in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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When a ball is kicked, the
acceleration of the ball will be
proportional to the force applied to
the ball by the kicker’s foot and
inversely proportional to the mass
of the ball, is an example of
Newton’s .

1)« Law of Inertia

(2) Law of Momentum

(3) Law of Interaction

(4) Law of Effect

(5) Question not attempted

Standing on tiptoe is an example of
which type of lever ?

(1) 1stclass lever

(2) 2nd class lever

(3) 3rdclass lever

(4) Combination of 15t & 3 class lever
(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below :

List-1
(Planning Year)

List-1I

A. IVth Olympics, 1908 i. Amsterdam

B. IXth Olympics, 1928
;. C. XXIst Olympics, 1976 iii. London
i D. XXVIItk Olympics,

ii. Sydney

1v. Montreal

2000
Codes:
A B O T
(L) Bl 0% <8 5 ol
(2) wdit- cHi=1W 5 2
() e d s i S e T
(2 ) e v Gl Ry
(5) Question not attempted

- (Planning City)

When the cue ball hits another ball
in a billiards game, the system’s
overall momentum, both before

and after the impact, stays the

same because

(1)
@)
3
4
)

the balls completely
elastic.

there is no outside force
acting on the system.

a steady force is applied by

are

" the cue stick.

the masses of the balls are
equal.
Question not attempted
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Which of the following statement is

not correct ?

(1) Sole of the foot rotates outward
through anteroposterior axis
in frontal plane is called as
eversion.

(2) Sole of the foot rotates inward
through anteroposterior axis
in frontal plane is called as

~ inversion.

(3) Rotation of palm at radioulnar
joint around a suproinferior
axis to turn away from the
body is called pronation.

(4) Frontal plane motion around
an anteroposterior axis at the
wrist is called deviation.

(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists

considering muscles and their
origins :
List -1 List - II
A. Adductor i. Tuberosity of
longus the ischium

B. Long head of  ii. Crest of the

biceps femoris pubis
C. Rectus 111. Outer surface
abdominis ‘of the ilium
D. Gluteus medius iv. Anterior part
of the pubis
Codes: '
A B €. B

1y 3 W B -1m
1= v i
By tiv - B S
@ v SicomoCin
(5) Question not attempted
Grasping or compressing a muscle
or muscle group, applying pressure
and then releasing the pressure
slowly, gently and rhythmmally 18
a kind of massage :
(1) Stroking (2) Efflurage
(3) Petrissage (4) Kneading
(5) Question not attempted
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8.

10.

Which of the following are the

main goals of therapeutic

modalities ?

(a) Reduction of circulation

(b) Reduction of dedema

(c) Promotion of tissue healing
(d) Reduction of fibrous tissue

Select the correct answer using the
codes given below :

Codes:

1) (a), ®) & ()

2) ), (©) &

3 (), ©&@

(4 (b) & (c) only

(5) Question not attempted

Which of the following factor has

the greatest influence on

maximizing projectile range in

Javelin ?

(1) Initial velocity and angle of
release

(2) Mass of the projectile

(3) Rotational inertia of thrower

(4) Height of the athlete relative
to the ground

(5) Question not attempted

What will be the effect on

Coefficient of Restitution, if speed

of the collision increases ?

(1) Coefficient of Restitution will
increase.

(2) Coefficient of Restitution will
decrease.

(3) Coefficient of Restitution will
remain constant.

(4) Coefficient of Restitution will
reach towards perfect collision.

(5) Question not attempted

53




Sl 0Tl e BT Ll e o LRs o B Al SFRRALNY on o et tnsn 8 ms 4

11. ﬁq%%aﬁﬁ%@@aﬁ%mﬁéﬁa 11. Which one of the following is

12,

13.

14.

53

Hh HAT AT & ?

(1) Teliges (2) W-Wliues
(3) fRrRw=es (4) ﬁmﬁam-
(5) 3gaa S
3@%%%3@%
TTEH <hifum <hl ATEIeRY fpde! @ 8 7
(1) IEm (@2 He
(3) it (4)
(5) SATARA A
gl — Tl gt — 11 & forend
gl - 1 ot - I
(ferpfer) (wET)
A. FEHIfbE i. o<l gs UIvd ashdl
B. @it ii. GC T 3k BT AT
BT
C. Siferifas iii. gef g &l
I I
- qig
D. ®ic$e iv. iR e
' 6 FE
Jaaerd 4914
HC:
ACB €D
(D) iii W B 53
(it i jibied
(3) iii iv i ii
@ i ii
(5) aﬁ?ffww
ﬁmﬁ@m%ﬁzwwaﬂﬁﬁgéﬁﬁ?
SE =TI ?
(1) =g GUIYEs Eg
2) 3 kT Fl
(3) W AT
(4) vEHHE EY

(5) JIANA TH

AR 81 ARS8 TSR TP S ol KIS SR A YA h g A 8 A 448 W ASAINSY LIS

RN} WS YAZOR Y PuAAsndd

12.

13.

14.

considered as Horizontal
component in Angle of Pull ?

(1) Rotary component

(2) Non-rotary component

(3) Stabilizing component

(4) Dislocating component

(5) Question not attempted
Which of the following company is
associated the main official
timekeeping in the 334 Olympics ?
(1) OMEGA (2) SEIKO

(3) ORIS (4) HUBLOT
(5) Question not attempted

Match the List — I with List —II :

List -1 List — 11
(Deformities) (Symptoms)
A. Kyphosis i. Exaggerated
~ lateral
curvature
B. Lordosis 1. Loss of Foot
Arch
C. Scoliosis iii. Exaggeration
of normal

convexity of
thoracic region

D. Flat Foot iv. Increase in
normal
concavity of
lumbar region

Codes:

A B €

(1) Hi=iv i
Qa1 1
G} i v
4y 3: 1 iv
(5) Question not attempted

| Hi =t '-—tj

The Lachman’s test is designed to
detect the injury of which of the
following ?

(1) Medial collateral ligament

(2) Anterior cruciate ligament

(3) Medial meniscus

(4) Posterior cruciate ligament
(5) Question not attempted
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17.

weight is equally balanced in all -

directions is known as

(1) Point of Application

(2) Non-contact force

(3) Centre of Gravity

(4) Equilibrium

(5) Question not attempted
Which one of the following pair is
not correctly matched ?

(1) Strap muscle — Sartorius

muscle
(2) Multipennote — Deltoid muscle

(3) Sphincter — Trapezius
muscle

(4) Flat muscle — Rectus
abdominis
muscle

(5) Question not attempted
Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List -1 List - II
(Types of (Function)
Bandage)

A. Gauze 1. Stops bleeding
Bandage
B. Compression  ii. Holding a
Bandage dressing in
place
C. Triangular 111. Venous ulcers
Bandage
D. Tube Bandage iv.Cravat
Bandage
Codes:

(b i 1 av

@ - in

() s e S

1) 1D ki

(5) Question not attempted
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20.

hip extension movement while
doing rowing exercise on machine ?
a. Semi-tendinous

b. Semi-membranous

c. Pectineus

d. Gluteus maximus

Select the correct answer using the
codes given below :

Codes :

(1) a,b&e

2 b,c&d

3 abé&d

4 ac&d

(5) Question not attempted

Which of the following are the
agonist muscles during ankle
dorsiflexion movement in leg lifter
exercise ?

a. Gastrocenemius

b. Tibialis anterior

c. Peroneus tertius

d. Extensor Digitorum longus
Select the correct answer using
codes given below :

Codes :

(1) a,b&ec

(2 a,c&d

(3) b &conly

4 b,c&d

(5) Question not attempted

A setter set the ball for the spiker.
The ball left the setter’s finger at
height of 2 mt. and has a vertical
velocity of 5 m/s upward. How high
the ball will go from the ground ?
(1) 2.59mt.

(2) 3.50 mt.

(3)  3.27 mt.

(4) 3.90 mt.

(5) Question not attempted
= |




21.

22.

-23.

24.

(8

ﬂﬁaﬁaﬁa#ﬁﬁmmuﬁﬁrﬁ
e ?

(1) arrEe gt

@) e afafa

Hidt Y FAfa

ded wirg wfafa

HTRd TH

frefefea § 3 =R @ i w9 6 5=
ferstera & €t =nfew 7

(1) o w=fien gH1 =Ife |

@ s 't TEwEEds o 6
TSRl W SMETRE BT =1 |
e forefar o W @M & sgaue |
Bl 4IRS =1 |

9 §H ¥ A 9R @9 H e
11T |

NG T

Tp8 YR <l T9ITHA YurTel! § YomEe By
e Efa @1 2 3R Tgg % gesli Sk
o+ T FATT e @ ?

(1) <GS B TS

(2) FiguwmEs

(3) <AThaIEh JIEA

(4) e IEe

(5) ITTNd A

o=ft gft S whwifir § e aes
mﬁﬂﬁuﬁ?@aﬁﬁaﬁqmw
(1) FHB @R ?

(1) oz &y

(2) <uTE HY

(3)

(4) Taufaw du

(5) FFgatE ¥

4
®)

3)

(4)

(5)

USRNSSR 4R THAASE PR TMASEI/TEL THMMAPOS TRUNSRNS. TIIMSUA-SS W Losikat % inmmirnes YLimnge O FSLISRS 4R e Y4BT EIASLRS THUSO A et AE AL T AR RSBRS84S S 8 AL L

21.

22,

23.

24.

National Fitness Corps was
recommended by which committee ?

(1)
)
(3)
@
®)

Tarachand Committee
Kunzuru Committee

Kaul Kapoor Committee .
Adhoc Enquiry Committee -
Question not attempted

Which among the following should
not be the basic feature of a good
budget ?

(1) The budget should be flexible.

- (2) The budget should be based

on the reality of all
necessities.

(3) The budget should be prepared
well in advance before the

*  financial year starts.

(4) All the expenses should be
done before preparing - the
budget.

(5) Question not attempted

In which type of administration
system, administrator hands-off
and allows group members to make
the decisions ?

()
@)
3
€Y
(5)

Laissez Faire Administration
Autocratic Administration
Democratic Administration
Athlete Administration
Question not attempted

Which one of the following drag is
reduced by adopting drafting
technique in long distance running
events ?

(1) Surface Drag

(2) Pressure Drag

(3) Wave Drag

(4) Viscous Drag

(5) Question not attempted
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(1) a,c,d, e, b

(2) a,d,e b,c
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2% 1 TeraHl 918 & Sert 2
1 5 2 4
3 6 4 7

(5) Hgaid T

; 25. Which of the following statements

i

5 RS TESSTLISEE WHAPRSTE LRSS TR W11 LD TS TS0

e g g ——

26.

27.

are correct ?

a. The budget should grow out of
the needs of the program.

b. Principle of budgeting is to
plan for 30% for contingencies.

c. In budgeting, involve all
people affected in planning
process. -

d. In budgeting, ensure proper
approvals by higher
authorities.

Choose the correct option :

(B a b.¢

(2)- b.ed

3) a,c d

4 abecd

(5) Question not attempted

Arrange the steps of budgeting
process in ascending order :

a. Gather the data.

b. Construct the budget.

c. Justify the figures and
present the budget.

d. Interpret & evaluate the
budget.

e. Analyze the past budget,
facilities.

Choose the correct option :

(1) aedeb

(2) a,d,e b, c

(3) a,b,c,e,d

(4) a,e b,c,d

(5) Question not attempted

How many byes will be given to

lower half in knock-out system if

teams are 21 ?

1 5 2 4

3 6 @ 7

(5) Question not attempted
_ ; -




28.

29,

30.

f=fafga 4 9 85 @1 = W 28. Which of the following ob]ectlves is

E‘ﬁ?ﬁmﬁiﬁ% ? ; included ! in intramural
: FE e i tournaments
@ ﬁ;{:ﬁ A ! f (1) Encouraging mass participation
m‘_’{ RSl : in an institute '
(2) I WHH % WY THEw & | (2) Developing the feeling of
T R i o ) integration  with  other
| institution

(3) T=aH TR W JEGIH T T
(4) a-ge gfaaifian
(6) FgaRasE

ffafiga & @ @ @t wfifa @ie &

| (3) Opportunity for performance
at highest level

(4) Inter-institution competition

(5) Question not attempted

29. Which of the following committee

3THRA AR THI9H GHRIE % A-EH 5 is responsible for holding the

fore fmier @ 2 opening and closing ceremony of
3 i the tournament ?
e mfufa

s - T

i 1) Finance committee
e i
@) : i (2) Logistics committee
(3) ehHIehl |fiffd , (3) Technical committee
(4) anfees afafa | (4) Hospitality committee

(5) Question not attempted

(5) TN I

i
Fofafea =1 fiem =+t 3t fafitw ; 30. Match the following and select
Hﬁﬁﬁ%mﬁ%mﬁﬁﬁmﬁﬁ: | correct optiog of functions of the
_ i various committee :
Tt -1 - List - I List - I
(afafe) (+r) f (Committee) (Work)
A deihiafify i suREi STy ! A. Techn};:tal- 1. ;mgarutllgi the
A : committee oU wi
- T IR | companies
ol i B. Logistics ii. Confirmation
B. witsifecesq wfifd i, stfeepria 1 gfy | committee of officials
C. g affy iii. e3fepl &1 ysuT ; - C. Finance iii. Management
- g committee of spectators

= v D. Marketing  iv. Accountmg

R : committee

A B D Codes :
Ay i A M e AoB 0 B
@) i 4V gr 1. m n oW
@ i i @ v @ i il v 4
@y v oa i ; 3) 11 P e

i () iv W1 #H 1
(5) ITgANE T | 5) ; :

Question not attempted.

[y
o

53




31.

32.

33.

34.

35.

53

e 3132 yferdifirenaii 3 vk 9= fafar <t | 31. A method used in knock-out

ﬁgf@w@maﬁﬁmﬁaﬁ@ﬁ%
AT Sl & T hEelrdl 8 ?

(1) =18

) Hifen

(3) faamm (sfafiesm)

(4) HIEH JEHR

(5) IFFTNG A

i
§
;
i

Frferfan & @ % o faf weve afe |

it 3 fsars 1 Fuiid sE F |

W3R 21 Bl @ 7
(1) i fafy
(2) e oty
(3) fafemfafy
(4) 3 fafa
(5) I A

Hrfed T8 % Aqcd By i FGRI B
% 7 ofi a1 T 3 -

(1) SiehTeAe g

(2) Fio=ies Fga

(3) ferameas g

(4) UGS g

(5) IR

i gtile soredt 3 afg 8 & 2 4l fohad
T @ S ?
(1) 24

(3) 22

(5) ARG IH

@ 26
@ 28

Frfefad & 9 S s gfeeast & Starfd

e AR ?

(1) I=Ed"

(2) Gei st

(3) e WA

(4) Far-g=d v
(5) ITITRA A

11

32.

33.

34.

35.

(4)

tournaments that attempts to have
the best players or teams meet In
the final is known as

(1) Bye

(2) Seeding

(3) Elimination

(4) Consolation

(5) Question not attempted

Which of the following is not a
method used to determine the
winner of a Round Robin
tournaments ? :

(1) Percentage method

(2) Canadian method

(3) British method

Ratio method

(5) Question not attempted

The leadership role performed in an
organised group is also termed as
(1) Symbolic leadership

(2) Formal leadership

(3) Functional leadership

(4) Informal leadership

(5) Question not attempted

How many matches will be played
in league tournament system if
teams are 8 ?

(1) 24 2y -26

By 22 (4) 28

(5) Question not attempted
Which among the following does
not come under extramural
competition ?

(1) Practice matches

(2) Open competition

(3) Closed competition

(4) Inter-house competition

(5)  Question not attempted




36.

37.

38.

39.

.ﬁw%%aﬁﬁﬁq@ﬁmw%ﬂﬁﬂ

(3) 100 g T

fic & el ° faafafega 4 @ == @
AT FEUYT B ?

(1) it 387 3

(2) M HifdERd

(3) YIRS gl

(4) W ufem

(5) FaRT S

0 T A S e e

3R fogia i Hefifa w2 7

(1) @ & wifasfiar &% ¥ ser
=1y |

2) mamaanﬁmaﬁaam
SSHEAT |

(3) uﬁawﬁaﬁwﬁma@ﬁﬁm
BIAHAT |

(4) W@ﬁm%ﬁg«“ﬂmm
2

(5) 3TgARd ¥ :

TR # wEd i A sEmEa qw

Tepa 2 2

(1) 85 g

(2) 95 g

4 S T4 L 24 M SAEY WA A Y D DAY W SIS B VoSS Yt 4 P 0 T 9 Y L b

(4) 105 g @A

(5) FgARd 9

yoHTRar gaar Fefafga § 8 o w
et g ¢

a. szmeaqmﬁﬁm‘rﬁm

b. &cd i dTehd Ud HHR

c. ®Hel 3R Bl &1 BT ATHR

d. Tramsiie ufesaied 6 @@

1) a,b3Rd (2 acskd |
3) b,c3Rd (@) ab3Re |
(5) ARG T ;

B et WSS ARS8 Wik rS M ARRCTED TR SRIY TS SE To st LA

37.

38.

39.

. Which one of the following 1is
recurrent inhibition in the spinal
cord ?

ey
2)
3)
(4)
®)

Golgi Tendon organ
Renshow cells
Supraspinal inhibitory
Ruffimi Endings
Question not attempted

Which of the following concept
refers to Hennemann size principle ?

(1

2

3

(4)

®)

Load should increase in
progressive manner.

Recruitment of motor unit
from smallest to largest

Recruitment of motor unit
from largest to smallest

Size of load increases as
adaptation occurs.

Question not attempted

What is the approximate amount
of ATP stored within the body ?

ey
2
3)
@
®)

85 g approximately

95 g approximately

100 g approximately
105 g approximately
Qliestion not attempted

Vital capacity depends on which of
the following ?

a.

b.
C.
d.
(1)
3
®)

Strength of intercostal
muscles

Size and strength of heart
Size of lung and chest cavity
Number of active alveoli
a,b&d 2 ac&d
b,c&d 4) a,b&ec
Question not attempted
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3 Al Eo sl d. o o ar il A g

40. T=fafigs % ¥ 9 9 wEifvs Qs

41.

42.

53

g@ % g feresma € 7

a. TN

b. FESEAH

c. WEH

d. TR
ﬁﬁqm@?ﬁmﬁa‘aﬁmw
AT B

Re:

(D a, b3 c
(3) b,c3md
(5) IR S

qwﬁzaﬁamﬁﬁwmﬁarﬂwm

FHiqie JEHR 3R v ¥ Je1 a1 27,

ffaRea § 9 fra Fames et 1 s

27

(1)  ATAIEh ST

(2) s HEE

(3) veaHl s A

(4) a:faa Frma

(5) ITTARA S

e (A) - mﬂamgﬁwﬁf@?r
(3R Teme @) % IEER,

(2) a, c3FRA
(4) a,b3Rd

S

uﬁasﬂﬁawﬁﬁwﬁﬁ%ﬁ

e FrevEard 2 £ |
%o (R) ¢ Grawaﬁsqmaﬁaﬁ
qﬁ@mﬁ%ﬁﬁwﬁaﬁﬁ

sfEfg B I 2 |
%R

(1) (A)Qa(R)a‘H‘mé%‘W(R) (A)
H g = 2 |

(2) (A) T (R) gF1 ¥al & wfeed (R),
(A) h TTeld STTEATE |

(3) (A)HER, W R)TeER |

4) (AT, Al (R)TER |
(5) IR T

!

13

40. Which of the following are oral

41.
. participation are tied to internal

42.

anabolic steroid ?
a. Stanozolol

b. Oxandrolone
c. Parabolan

d. Ethylestrenol

Select the correct answer by using
codes below :

Codes :
1 ab&ec (2) a,c&d
(3) - b,ce&d 4 abé&d

(5) Question not attempted
“Athlete’s internalized reasons for

rewards and punishment” falls in
which of the following regulatory
style ?

(1) Internal motivation

(2) External regulation

(3) Identified regulation

(4) Introjected regulation

(5) Question not attempted

Assertion (A) : Drive reduction
theory grew out of the concept
that all living being have
certain biological needs.

Reason (R) : When their need is
satisfied, the drive to satisfy
them increases.

Codes :

(1) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(2) Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted




43.

44,

45.

FHYH (A) : wefle % TRAEE a9 &
A sguedi fosra wfsteqor 6 =g
<1 3rafy & foTT 3MYR d9R L 2,
el fovngar wview S@Er W
A A Hlgdsdig |l |

&RU (R) : 99 JF weedie yiges B9 &

s i feft sedt 2 1

R ' .

(1) (A) 3R (R) T T30 A 2
3R (R), (A) F1 T TR 2 |

@) (A) IR (R) T -3 93
3R (R), (A) T G&1 TR &
2

(3) (A)FA e, @ (R) s =L

@) (A) AR, AR (R) T2 |

(5) SIgARE T

ffafea & @ ®F @1 gftwin @« §

ST o T ‘i’ JOhR & Hefta 2 7

1) dfEwgfmm

(2) TSI guYH Wi

(3) wHICH gfoshrmT

(4) glewr g

(5) TG Fe

Frafafga o @ s 9 aedivfagus yaR

$H aRETE ?

a. HISEES b, YR

c. THAINYEESA d. Tl

= fou 1T ge i TEE ¥ g IO H

Tﬂqﬁ

R : |

(1) a,b3Rec

(2) a,c3id

(3) b, c3Mmd

(4) a,b3itd

(5) 3TFaE A

e——

0 A T 58 AL A RS YRR TS D AR 3

WA AT LRSS S Tt 8 i SRS o R AR T
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43.

44.

45.

Assertion (A) Multilateral
development  during the
athlete’s formative years lays
the groundwork for later
periods of training when
specialization
greater focus of the training
plan. :

Reason (R) : As the athlete
matures, the degree of
specialization increases.

Codes:

(1) Both (A) and [R) are
individually true and (R) is
the correct explanation of (A).

(2) Both (A) and (R) are
individually true and (R) is not
the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

Which of the following approach is
related to “Valance’ reward for
motivation in sports ?

(1) Pedagogical approach

(2) Social support strategy

(3) Cognitive approach

(4) Facilitation approach

(5) Question not attempted

Which of the following
multiaxial type joints ?
a. Condyloid

are

b. Arthrodial
c. Enarthrodial
d. Sellar

Select the correct answer using the
codes given below :

Codes:
(1) a,b&ec
2 aec&d
3) b,c&d
(40 a,b&d
(5) Question not attempted
53
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46. Tafafiaa 3 8 =6 91 ges TEURET Hi

47.

A. T FHR
fargr
B. tfishHa

C. == Wiefm

<sh

D.aEa 1l

48.

53

&ifer 1 gRom T 8 2

(1) ufyEifam

(2) wTErHIvgAT & o
(3) HRBISER i fEqo
(4) Gk fage

(5) ITNT A

o _ 1 g - 119 gk w3k |

g & 9 feu T % F IWE e
FI'@PIW@%[
Tt - 11

-1

1. 3okl 3R Tehigeh
st T3 <1 SisH
2. TIeT 3T I FTHR
3Eeh! Gfshaan sl
a2 |
3. FAftreRaw dreha 3R
wifts Fefia & &l
gHAT
4. T 35T AfSR B

ahra R 1
%: ‘-

(1)
(2)
(3)
4
®)

W DO DD >
W 0o W o T
N == w0
NG U I s |

FART I

s s @ 9 Y W At e 9 |
=EE HAl 2 | IEE % 9 39!

el T AT 1 8 1% e 983,29 ¢

9y, e H 67 33V 3% e T 502 | |

ﬁmﬁf@aﬁ@aﬂqmw&ﬁ?ﬂmﬁﬁm
CI1 I B 7
1 75
(3) 95

(5) 3TN T

(2) 85
4) 105
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i

ALY TASEAY WA S5 WLIRE IR L ANLALEE THL AR T RS 48] Teabaans

46.

47.

48.

i
{

|

Which one of +the following
component is not the result of
muscle damage ?

(1) Acidosis

(2) Swollen Mitochondria

(3) Distortion of Myofibrillar
(4) Sacrolemma disruption
(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List -1 List — 11
A. Hennemann 1. Combination
size principle of eccentric

and concentric -
muscle action
Size of the
motor unit
dictates its

B. Asynchronous 2.

activation
C. Stretch 3. Ability to
shortening exhibit
cycle maximum
strength and
power
D. Type Il muscle 4. One unit
fibre deactivates
while other
activates
Codes:
& B € B
331 & =g i
(2 -2 433
@8 4
a4 -3 -2 1

(5) Question not attempted

A subject exercises for 5 minutes
on Harvard step test. His recovery
pulse count after exercise for 1 to
1% min. is 83, 2 to 2% min. is 67
and 3 to 3% min. is 50. Which of
the following is the physical
efficiency index of the subject ?

(1) 75 2 85

3) 95 4) 105

(5) Question not attempted




49. f=fafiga 4 @ vesla &1 =8 @ Tgc] | 49. Which one of the following aspects

50.

51.

ST g o €9 & &1 A1 a1 8 ?

(1) yERHggH R

(2) wesi fRrar

(3) YR F& T hi &wHar

(4) WA fawm

(5) IIgaRa 5%

Fafrfea i a s A s gl € ?

a.  SATRIeT IS k! G =k Iieen §
% A2 |

b. aif¥s FioT 9NEer Swed %
YR 9 IR < A1l 2 |

c. UREW Heewn wft WHR, hl
SRIETOT FISTHIHAT BT SR TN 2 |

d. Y& I FAHT Ashl Teh ArSHT H1
IR S 2 |

= fou ™ ge # A wd faewey =1 ==

L

(1) a,c3d

(2) a,b3rd

(3) a,b3iec

(4) b,c3Rd

(5) 3FING A

@i @ amda g ®9 F

Frfafga o & frg w it 2 2

g AT

HI¥d

FHAT T

ElGRE LB IGE :

d fou ™ e § ¥ 9l fawey s

(1) a, b3Wec

(2) a, c3id

(3) a,b3fitd

(4) b, c3Rd

(5) TG S

e R

j
L]
:
i
{
;
i
;
i
i
i
i
:

SARND VY P AESIL S 11 et PN TEUSSIAASS TSRS TRARIES) 1St vs T cab o 83 B ARSS S Y et T S S ARS8 P A YLt P s o St it e 1L A RSB R D

R T —

PN RS AR st e
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50.

51.

of performance is not considered as
talent indicator ?
(1) Rate of
performance
(2) Performance stability
(3) Ability of tolerate load
(4) Motor development
(5) * Question not attempted

Which of the following statements

are correct ?

a. Operative plan is also called

- meso-cycle plan.

b. Yearly plan is prepared on
the basis of  training
conception.

c. Training conception forms the
basis of all types of training
plans.

d. Micro cycle plan forms the
basis of macro cycle plans.
Choose the correct option from the

codes given below :

1 ac&d

(2) a,b&d

3 a,b&e

4 b,c&d

(5) Question not attempted

The ability to anticipate depends
primarily on which of the following ?

increase of

a. Movement structure
b. Experience

c. Deception

d. Tactical pattern

Choose the correct option from the
codes given below :

(1) a,b&e
2 a,c&d
3 abé&d
4 b,c&d
(5) Question not attempted

53




52. ﬁﬁiﬁ{fi‘s’ﬁﬁﬁﬁqgﬁr@tﬁwwaﬁw 52.

53.

54.

53

TR ?

a.
b.
c.

d.

g gL HTT IR Tl TG |
gfceaei SGHa IE A |
TE Tehe1eh TR TITTC EEAT |-
Ter-fafre fhes s T |

T e I

(1)
2)
3)
@
(5)

Hada, b3 cTE B |
Had a, c INATE 2 |
Hhad a, b3IMd TE 2 |
Haedl a AR cTE B |

FARd 9=

qﬁ%?

b.

C.

d.

@Eﬁz‘rﬁmwﬁm‘aﬁm
T arel giETe) WHifds FAEEi |
qftfad =T |

weATel i Wel & fore fafrs ufsieqo
% fagia 3R SRy faam |
T AR IR Ga-TaEE 9w
i1 ferenfaa = |

Had FAETS AH  fawiaa
T |

Hel %

1
@)
3)
4)
®)

Facta, b AN c A F |

Had a, c IR AT E |
Hada, b33N dTE 2 |
éreuaaaﬂthéﬁl

K E GRS
Wﬁﬁwmaﬁ%ﬁwsﬂ%ﬁaﬁ

ﬁﬁuﬁ-r&aaﬁﬁaﬁqmﬂ‘éﬁﬁ% ? :
qeelehl WERd, Tid 3R drehd 6l |

(1)

()
3)

“4)
®)

HEFHAT 9] Bl & oY ﬁ?ﬂﬁ
w%wmﬁmaﬁmaﬁrﬁ
9 HI A 2 |

yfSregor <6l disrar - %ﬂ‘taarlém?ﬁ%!
e iR ¥ 1 9w vee yfe
& et g8 3Tt HI S @ |

eI arel Wl o foe wiveE 6 |

T 3= Wl S g |
AaRd g9

ﬁﬂ%@ﬁﬁﬁﬁqm%mﬁwwﬁw i

[ A p——
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53.

54.

Which of the following is not the

objective of the Competitive Phase ?

a. Dissipating fatigue and
elevating readiness

b. Gaining competitive experience

c. Learn new technique and
tactic

d. Maintaining
fitness

Select the correct code :

(1) Only a, b & ¢ are correct.

(2) Only a, ¢ & d are correct.

(3) Only a, b & d are correct.

(4) Only a & c are correct.

(5) Question not attempted

sport-specific

Which of the following is not the
objective of preparatory phase ?
a. To familiarize athletes with

the basic strategic
manoeuvres mastered in the
following phase.

b. To teach athletes the theory
and methodology of training

specific to the sport.
c. To develop individualized and

sport-specific nutrition plan.
d. To cultivate psychological
traits only. -

Select the correct code :

(1) Only a, b & c are correct.
(2) Only a, ¢ & d are correct.
(3) Only a, b & d are correct.
(4) Only a & c are correct.
(5) Question not attempted

Which of the following is not

correct about the characteristics of

Main Competitive Subphase ?

(1) Training volume  is
significantly reduced of the
level of the preparatory phase

for sports that require
technical mastery, speed &
strength.

(2) Intensity of training 1is
gradually increased.

(3) Training intensity becomes
highest 1 week prior to the
main competition.

(4) Training volume kept high for

- endurance sports.
(5) Question not attempted



535.

56.

a7.

58.

I8 UM W 9R-9R B¢ ¥ e @
AUl H WA W AFe HE | A0
309 SR Tt wird 2, e smm @ =0
mmwﬁmﬁmﬁa@ﬁ%
38 R FEIACE ?

(1) BIecAeh TTIE0T
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(8) 3= freran ufvrem

(4) e g

(5) 3TN T

agﬁsﬁﬂzﬁaﬁmw?%%qw
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(1) ¥R % gfg shites €9 9 BH1 =1fRT |
(2) FUIE ENIH S AR |
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(4) wfSTeqoT TR 8 95 & 91 4] |
(5) g I

g Yfcifar 3 dehrer gd fafine wfdnemo
gty ¥ it i frefofae 3 4 <9 6
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(1) RE™ ggfa 3 I 1 =9emT |-
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(5) SAgaRA WA
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AT ?

1) wﬁﬁﬁ:ﬁw
(2) 9H<3

(3) THe AFH

(4) dHAS

(5) Fgaia S
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55.

56.

57.

58.

(3) Stimulus

The repeated short to long bouts of
exercise usually performed at or

the threshold
interspersed with periods of rest or

above lactate

low-intensity exercise is known as
(1) Fartlek training

(2) Interval training

(3) High intensity training

(4) Lactate training

(5) Question not attempted

What is necessary for superior
physiological adaptations to occur ?

(1) Load must be increased
progressively.

(2) Inadequate periods of
recovery.

(3) A sudden, dramatic increase
in training load.

(4) A decrease in training load
over time. :

(5) Question not attempted

Which of the following is the

characteristic of tapering in special

training  period immediately

preceding the main competition ?

(1) Stimulus is reduced in a non-
linear manner.

(2) Stimulus is increased in a
linear manner.

1s reduced in a
linear manner.

(4) Stimulus is kept constant.

(5) Question not attempted

Which of the following is defined as
the motor procedure for tackling a
motor task ?

(1) Movement execution
(2) Coordination -
(3) Motor learning
(4) Technique
(6) Question not attempted
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99.

60.

61.
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(1) i wfeie % siie wr=fiered g
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(5) FIgTRA T

foepies Wit § GUR  fa¢ s 5 H
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59. Which

@

60.

61.

type of training 1s
associated with Maxex training ?
(1) Heavier resistance followed
by flexibility training

Lower resistance followed by
speed training

Speed training followed by
heavier resistance

Heavier load followed by
explosive movements
Question not attempted

(&)
3)

(6))
Who introduced the concept of
depth to the
explosive strength ?

@
2
&)
(4)
()

jump improve
John Endermann

Paolo Cavanga

V. Komi

Yuri Verhoshansky

Question not attempted

Assertion (A) : If athletes are
roughly at the same level of
development and stage of
training, less individualization

_ of the training plan is needed.

Reason (R) : An athlete who has

high chronological age in
conjunction with a low
training age may need more
multilateral and skill
acquisition training.

() Both (A) and (R) are

individually true and (R) is
the correct explanation of (A).
Both (A) and [®R) are
individually true and (R) is
not the correct explanation of
(A).

(A) is true but (R) is false.

(A) is false but (R) is true.
Question not attempted

2)

3
4

®)
o
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63.

64.

3 3R S g® AT R ?

1) 7-10s8

(2) 18-2198
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62.

63.

64.

In which age group Sports talent
can be judged fairly and accurately ?

@
@)
3
@
®)

7 — 10 years

18 — 21 years

13 — 14 years

14 — 17 years

Question not attempted

Arrange the following phases of
reaction ability in correct sequence :

a.  Time taken by sense organ to
generate nerve impulse.

b.  Time taken by nerve impulse to
reach concerned center in CNS.

c. Time taken by signal to reach
the sense organ.

d. - Time taken by motor nerve

‘ 1impulse to reach muscle.

e. Time taken by CNS to
generate a motor impulse.

f.  Latent time

Codes :

(1) cab,edf

2) a bedct

(3 b,fe deca

4 fe dabe

(5) Question not attempted

Which one of the following pair is
not correctly matched ?

(1

2)

®)

4)
®)

Fartlek — HR% max
training varies
method

Continuous — at lactate
pace training threshold HR
Aerobic —  80% — 100%
interval

Anaerobic — <60%
interval

Question not attempted
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65.

66.

67.
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AR (A)
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65.

66.

67.

Assertion (A) : The relationship
between  technique and
movement efficiency is
important in all sports.

Reason (R) : If a runner became
technically skilled and can
optimize his stride rate and
ground contact time, he will
be very efficient.

(1) Both (A) and (R) are
individually true and (R) is

: the correct explanation of (A).

(2) Both (A) and (R) are
individually true and (R) is
not the correct explanation of
(A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

If an athlete completes a total

" distance of 3400 meters in the 12

minutes Cooper VO, max test,
then what is his VO, max ?

(1) 60.55 ml/kg/min

(2) 64.72 ml/kg/min

(3) 66.82 ml/kg/min

(4) 68.94 ml/kg/min

(5) Question not attempted

Assertion (A) The pre-
competitive phase primarily
aims to expose athletes to
unofficial meets.

Reason (R) : These meets enable
the coach to objectively assess
the athlete’s readiness across

~ various training aspects.

Select the correct option :

(1) Both (A) and (R) are
individually true and (R) is
the correct explanation of (A).

(2 Both (A) and (@®R) are
individually true and (R) is
not the correct explanation of
(A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted




68.

69.

70.

71

72.

foeelt Tifvea v 318 A welle &1 0F |
mﬁﬁqmm(ﬁaﬁ)ﬁmﬁf |
I T HET A8 ?

(1) wf¥iewr ame (2) e g4

(3) Ui s (4) m?ﬂaaT

(5) SITTRA S

O AR % I ok IFUE AR S
T b1 Ueefie <h1 &l i 1 HRI S 8 ?
(1) unfdswie (2) "=k

o4 T eriaihnts Vi Yol ek et 8 TR S RSP LSS

(38) Wt (Power) (4) 3iferehan itk
(5) IrITid I
Qe U § FITT e 31 € 7

(1) e, ?}iﬁrﬁ asqaﬂtastraﬁq;

(2) q@ﬁﬁﬁ'«lﬁ I, 2reT 3K ey
HATh TS

(3) vhrEEE, TR, T AR gRm
(@) Wit 3Efad, erem 3k
(5) IFTING T |
Frafafega 3 @ 8 @ Ffidn-Fper |
TgaRE e g 7
(1) 2o Yo JUTd &
(2) HWIRET qrer Fem
(3) Tinferem St . 3. wliegor
(4) Tl I GHAT TIET
(5) eI w¥A
face-3m wfeaified = & fosm o
3I9ATT B @ :
a. TeI & b.aar—ﬂﬁﬁm

c. Irpuweh At d. 3THeE W)
ﬁ%ﬁqwiammmgqaﬁaﬂ?
1 A e : |
(1) aeia, b3Rc
(2) a,b,c3Rdadft
(38) Fasdia 3N b
(4) Faab AN c

(5) IIgaRd IH

22

68.

69.

70.

74 2%

72.

The frequency at which an athlete
is exposed to a series of stimuli per
unit of time is called

(1) Volume of training

(2) Density of training

(3) Intensity of training

(4) Absolute intensity

(5) Question not attempted

The ability of an athlete to exert
maximum force regardless of own
body weight is known as

(1) Relative strength

(2) Absolute strength

(3) Power

(4) Maximum strength

(5) Question not attempted

What does FITT stand for in sports

training ?

(1) Frequency, Intensity, Time &
Type of Exercise

(2) Flexibility, Intensity, Time "
and Type of Exercise

(3) Frequency, Intensity, Time
and Training

(4) Flexibility, Intensity, Time

and Training
(5) Question not attempted

Which one of the following is
cardio-vascular endurance test ?
(1) Tuttle Pulse Ratio Test

(2) Margaria Power Test

(3) Phillip’s J.C.R. Test

(4) Scott Motor Ability Test

(5) Question not attempted

Build-up competitions are useful
for development of the following :

a. Performance capacity

b. Technical skill

c. Tactical ability

d. Conditioning level

Select the correct answer using
codes given below :

(1) a,b&conly -

2) Alla,b,c&d

(3) a &bonly

(4) b &conly :

(5) Question not attempted
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74.

75.

Match List — I with List — I and
select the correct answer by using
the codes given below the lists :

List -1 List-1I
(Periods) (Characteristics)
A. Preparatory 1i. Consolidation of
phase technique
B. Pre-competition 11. Biological
phase  regeneration
C. Competitive  1ii. Acquire general
phase physical
preparation
D. Transition iv. Linkage of
phase performance
factors '
Codes :
A € D
(D o1 =Fivd Wk
(2Y 5w am o
GFE ‘1w A ke Of
(A eavcim s
(5) Question not attempted

During recovery phase after
training, the recovery does not end
at pre-training but it over shoots
the pre-training level, which is
known as

(1) Overcompensation

(2) Supercompensation

(3) Undercompensation

(4) Load adaptation

(5) Question not attempted
Which of the following is not

correctly matched for phases of
supercompensation ?

(1) Phasel : Duration of 1 to 12
hours

(2) Phase Il : Duration of 24 to

: 48 hours

(3) Phase III : Duration of 36 to
72 hours

(4) Phase IV : Duration of 3 to 7
days

(5) Question not attempted
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71.

78.

Forehand skill learned in
Badminton, will facilitate the
learning of same skill in Squash
will come under which type of
transfer of training ?

1) Zero transfer

2) Negative transfer:

3) Positive transfer

£4 Feedback transfer

5) Question not attempted

Match List — I with List —II :

List-1 List —II
A. Task-oriented 1. Inspires
leader eople to
ollow
B. Behavioural 2. Maintaining
approach a good
: interpersonal
relationship
C. Relationship- 3. Leaders are
oriented leader made, not
_ born
D. Transformational 4. Setting
leadership goals and
getting the
job done

Select the correct answer by using
the codes given below :

Codes:
Al R
€123 I EEE T ol

24 -
3) =~ 2= F 4ol
4 35 2 1 - 4
(5) Question not attempted

Match List — I and List — II and
select the correct answer by using
the codes given below the lists :

List-1 List - II
(Development) (Developmental
Objectives)
A. Neuro-muscular I. Face
coordination challenge
B. Intellectual II. Development
Development of strength
C. Emotional II1. General motor
responses ability

D. Organic Power IV.Solve problem
Codes :
A B € D
AR 1IENE WA S |
Gy Hr- IVE LT
G IV HE S F .
(=T HE 11 -}
(5) Question not attempted
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79.

80.

81.

Match the following List — I with
List —1II:

List -1 List - II
(Developmental (Characteristics)
Age)
A. Anatomical 1. Onset of
age puberty
B. Mental age ii. Mental
maturation
C. Chronological iii. Skeletal
age © system
D. Physiological iv. Year, month
age and days
Select the correct code :
Codes:
€z D

€ n. i3 Y
(73 ST GRiEs TR
(ST R e

A4 oM 1 v

(5) Question not attempted
Which one of the following pairs is
not correctly matched ?

(1) Carbohydrates — Major source of
energy for the
human body

(2) Dietary fiber — Fat cells in
the body

(3) Trans fatty acid — Solidified fat
(4) Sterols
(5) Question not attempted

Which of the following
philosophical theory advocates that
reality depends on the mind for
existence and that truth is

— Derived fats

- universal and absolute ?

(1) Idealism

(2) Progressivism

(3) Humanism

(4) Naturalism

(5) Question not attempted
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82.

83.

84.

Match the following and select the
correct option from codes given

below :
List -1 List — I1
(Branch of (Focused on)
- Philosophy)
A. Epistemology 1. Orderly
reasoning
B. Logic 1. Knowledge
and method
C. Metaphysics  iii. Beauty and
art
D. Aesthetics iv. Nature of
reality
Codes:
& B G D
(65 ¥ 0¥
2} B Y'Y v 9w
By 1 e
4y B 37 v

(5) Question not attempted

According to Bookwalter, which of
the following is not one of the three
main objectives of physical
education ?

(1) Health

(2) Ethical character

(3) Social efficiency

(4) Worthy use of leisure time

(5) Question not attempted

Assertion (A) : A warming-up
should include an exercise
session with low-intensity,
callisthenic type and stretching
exercises.

Reason (R) : Such a warm-up
period increases both heart
rate, breathing and reduces
the amount of muscle and
joint soreness.

Choose the correct option :

Codes:

(1) Both (A) & (R) are individually

true and (R) is the correct

explanation of (A).

Both (A) & (R) are individually

true but (R) is not the correct

explanation of (A).

(A) is true but (R) is false.

(A) 1s false but (R) is true.

Question not attempted

2)

(3)
4
5)
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85.

86.

87.

Match the following and select the
correct option from codes given
below :

List -1 List - II
(Stages) (Developmental
Milestones)
A. Infancy 1. Gender -
identification
B. Late childhood ii. Linguistics

C. Adolescence 1. Well

integrated
, into society
D. Early iv. Growth spurt
adulthood
Codes:

X B 6D
'8 38T HRE SRal R
) bV ST
(B "% wm m iy
4" O
(5) Question not attempted
Recapitulatory theory of play was
proposed by

(1) Lumley

(2) Brand S. Mason

(3) G. Stanley Hall

(4) Herbert Spencer

(5) Question not attempted

Which one of the

statements is correct ?

(1) Essential fat is the fat stored
in the adipose tissue.

(2) Essential fat serves as an’

' energy substrate for
metabolism.

(3) The essential type of fat is
found within tissues such as
muscles and nerve cells.

(4) Essential fat acts as an
insulator to retain body heat.

(5) Question not attempted

following
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88. Which of the following are health
related fitness components ?

89.

90.

91.

5
IL.

I1I.
IV.

Body composition
Balance
Muscular strength

Coordination

Codes:

(€Y
(2)
3)
4
®)

I and II only

II and III only

II, IIT and IV only
I and III only

Question not attempted

Who has defined play as : “Play is
the natural unfolding of germinal
leaves of childhood” ?

(1)
2)
3
4
®)

Froebel

Harold

J.P. Thomas

C.A. Bucher

Question not attempted

According to young, three types of
audience are

®
2)
(3)

4
®)

Information seeking, Scheduled,
Recreation seeking -
Conversional audience, Casual
audience, Information seeking
Information seeking, Recreation
seeking, Conversional audience
Self-centered, Hostile, Cordial
Question not attempted

From which Olympics women
competed in every sports ?

@)
2)
3)
4
®)

Antwerp Olympics (1920)
London Olympics (2012)
London Olympies (1908)
Paris Olympics (1900)
Question not attempted
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93.

94,
- W BRI R 7

95.
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et - 1 it - 11
A. grifoes 99 fogia i éwisﬁes
Bﬁﬁ?@ﬂvrrqasﬁr@'m i =
D.aﬁmr—awur iv. BehgTe
g
R '
XNy G P
(PY = B0 sOGwiou !
TP e
(3) 111 T N
(4) BE % .3
(5) maﬁﬁﬁw
ﬁm%@aﬁﬁ%aﬁwﬁsamﬁ

e fien & e o Wi SR 2 |
e wem & o I B 8 3R |
3ifereh HeT 31feeca & e E @ 7
(1) o53.Ta.30.

2) faferm am. wifda

(3) uME deE ST

(4) HHT, dob

(5) ITRG 5 _
TRk e § gFgdERl e | @

(1) Sfia 3 ufaet

(2) YIS ATk hl YOI &A1 S fashrd
(3) =i B  TeTT AHhIHA HRIFH
(4) 9T WIAR

(5) IIgARa S
wfereRITeisl o ol freaR s @ 2

(1) =ferepar 3R e

(2) Afeepar 30 dicdsme

(3) dicdymra 3R FrEHET

(4) Afeepar 3k aH

(5) FaIRE A

i 92. Match the foﬂowing lists :

i
i
£

N O P S Y
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93.

94.

95.

List-1 List-1I
A. Social contact i. E. Thorndike &
theory S. Woodworth
B. Psycho-analytic 1. Plato
theory
C. Instinct theory iii.Sigmund
Freud
D. Transfer of = iv.McDoughll
learning theory .
Codes:
A B € D

By - | 1 - v
(2. ik 3 i
() S e TR e
My n o W
(5) Questlon not attempted

Which of the following has defined
wellness as “Wellness is an active
process through which people
become aware of, and make choices
towards, a more successful
existence” ?

(1) W.H.O.

(2) William R. Corbin

(3) National Wellness Institute
(4) Karen A. Welk

(5) Question not attempted

What is the primary focus of a

humanistic philosophy in physical

education ?

(1) Winning and competition

(2) Development of the full
potential of each individual

(3) Standardized programs for all
students

(4) Emphasis on team sports

(5) Question not attempted

What are the two extensions of
axiology ?

(1) Ethics and metaphysics

(2) Ethics and aesthetics

(3) Aesthetics and epistemology
(4) Ethics and logic

(5) Question not attempted
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97.

98.

99.
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100.
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3 3fiFe
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3 TR 1 G A AR ? :

(2) 20 G g IR 2 It <te
(3) 15 Tl TS 3R 2 Ot SieE
(4) 05 o =g 3R 1 9 =Sei
(5) FFTRd IH
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97.

98.

99.

100.

101.

type of tournament
organized by Men’s/Women’s in
National Kho-Kho Championship ?
(1) Knockout

(2) League

(3) Knockout-cum-league

(4) League-cum-knockout

(5) Question not attempted

How many reviews are allowed in
a Kho-Kho match as per
International Kho-Kho rules ? .

1) 02 (2 03

(3) 04 (4) 05

(5) Question not attempted

Index Number formula for classification

of junior and sub-junior category is

(1) Height in cms. + Weight in
kg. + Complete Age in years

(2) Height in mtrs. + Weight in
kg. + Complete Age in years

(3) Height in feet + Weight in kg.
+ Age in years and months

(4) Height in cms. + Weight in
pound + Age in years & months

(5) Question not attempted

Where were the first ever
International Kho-Kho coaching
camp held at ?

(1) Jaipur (2) New Delhi
(3) Ghaziabad (4) Imphal

(5) Question not attempted

In an International match, the
defending team will get first
Dream Run if any batch survives
(Not out) for the following time :

(1) 5 minutes (2) 4 minutes
(3) 3 minutes (4) 6 minutes
(5) Question not attempted

Which is the correct number size of
a Kho-Kho player’s T-shirt at front
side ?

(1) 10 cm. length and 2 cm. width
(2) 20 cm. length and 2 em. width
(3) 15 cm. length and 2 cm. width
(4) 05 cm. length and 1 cm. width
(5) Question not attempted
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103.

104.
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102.

103.

104.

The attacker cannot recede after
taking a particular direction in
which of the following cases ?

(1) While moving on cross lane if
an attacker steps back in the
cross lane.

If an attacker steps back at
the time of getting up after a
flat dive. ,
Supporting foot skidding/
sliding backward during post
dive.

After taking a particular
direction if he steps back.
Question not attempted

@

3

@

®)

As per Sports Authority of India
Kho-Kho test, match the List-I with
List-1I :

List -1 List — II
A. Sixsingleup 1. Time
duration test
B. Zig-zag run II. Fitness and
events test
C. 30 mts. III Running
standing start speed test
D. Legs IV. Standing
strength broad jump
test
Choose the correct answer from
following : ==
A - B € D
(1) 1II PN =
2) = FV5E] 11
3 IV 1 IF I
4 1 B HE - IV
(5) Question not attempted

If the incomplete match is not
played in the same session, the
entire match will be
(1) continued from the beginning
: of the incomplete turn.
(2) replayed with same score.
(3) replayed from the beginning

or considered as draw.
(4) continued from the remaining
time.
(5) Question not attempted

o



105.

106.
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108.

109.
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105.

106.

107.

108.

Who shall start the turn by
blowing a long whistle followed by

- a short whistle ?

(1) Referee (2) Umpire
(3) Time-Keeper-1 (4) Scorer
(5) Question not attempted

B.E. Phillips JCR test is suitable
for individuals aged between
following years old :

(1) 18 to 40 years

(2) 16 to 40 years

(3) 16 to 45 years

(4) 18 to 45 years

(5) Question not attempted

When an attacker while going to a
particular direction, touches the
ground which he had already
covered, he is said to have

(1) recede

(2) return

(3) restart

(4) to take direction

(5) Question not attempted

According to symbols used in
scoresheet, match the List — I with

List —1I :
List - I List-1II
A. Taping I. SA
B. Suddenattack II. T
C. Turn closed I O
D. Out of field . i

Choose the correct answer from
options given below :
A B C D

a4y 1 -0 I IV
© IV I FIE&550
G M.y I B
@y TP IV TN

(5) Question not attempted

The immediate first-aid of soft
tissue injury is

(1) Massage

(2) Ice application

(3) Heat application

(4) Wax bath

(5) Question not attempted
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110.

111.

112.

113.

114.
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110.

1E1.

112.

113.

114.

From the following, who is not
abiden by the all rules apphlicable
during attacking except the
crossing the central lane and
perfect Kho ?

(1) Captain of attacking team

(2) Active defender

(3) Chaser

(4 Wazir

(5) Question not attempted

The width of the each line of the

- playfield should not be less than

(1) 3cm. (2) 2cm.
3) 4cm. (4) 5cm.
(5) Question not attempted

For an International Kho-Kho
tournament, the written protest is
accepted in following condition :

(1) Within one hour of the
completion of the match along
with protest fee of US dollar 15.
Within one hour of the
completion of the match along
with protest fee of US dollar 10.
Within half an hour of the
completion of the match along
with protest fee of US dollar 20.
Within half an hour of the
completion of the match along
with protest fee of US dollar 15.
Question not attempted

2)
3
@

®)

Who is the current President of
International Kho-Kho Federation ?
(1) Bhai Nerulkar

(2) Ashok Sah

(3) Sudhanshu Mittal

(4) M.S. Tyagi

(5) Question not attempted

Which Kho-Kho Federation was

established in the year 1987 ?

(1) International Kho-Kho
Federation

(2) European Kho-Kho
Federation

(3) African Kho-Kho Federation

(4) Asian Kho-Kho Federation

(5) Question not attempted
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116.

117,

118.

119.
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115. After committing a foul at the time

116.

117.

118.

119.
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changing the

of rectification, if an attacker while
direction makes
attack on different defender, is
known as

(1) Initial attack

(2) Initial indirect attack

(3) Surprise attack

(4) Opening attack

(5) Question not attempted

How many players are there in a
Kho-Kho team will take playfield
at the beginning of the match and
as substitute players according to

new rules of IKKF ?
1) 10-01 2).. 11 — 02
3) 12-03 4 16-04

(5) Question not attempted

Who won the first Ultimate Kho-
Kho League title in 2022 ?

(1) Gujarat Giants

2
3
4
5)

How many variations in “Flat
Dive” skill are used by attackers ?

(1) Two (2) Five s
(3) Four (4) Three
(6) Question not attempted

First time in India, the rules of the

Kho-Kho game were published in

the form of a book by

(1) Akhil Bharatiya Shikshan Mandal

(2) Bharatiya Sharirik Shikshan
Mandal

(3) Akhil Maharashtra Sharirik
Shikshan Mandal

(4) Sharirik

(5)

Odisha Juggernauts
Telugu Yoddhas
Mumbai Khiladis
Question not attempted

Akhil Bharatiya
Shikshan Mandal
Question not attempted
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124. eI
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120. Match the List — I with List — IT :

List -1 List - 11
A. Post I..: 1.50 mts.
Diameter
B. Post height II. 9to 10 cm.
above the
ground
C. Posttopost III 120 to 125 cm.
distance ,
D. Post line to IV. 19 mts.
end line
distance

Choose the correct answer from the
options given below :
A ks € D
(B EV . -] II 111
v G | BN 6 gl II
(21 HEC BV I
4 1 I Hir IV
(5) Question not attempted

. What is the distance between two

adjacent attacker blocks for junior

girls ?
(1) 255mis. -2y '230mis.
(3) 1.90mts. (4) 1.70 mts.

(5) Question not attempted

. Who was the President of ‘Akhil

Bharatiya Kho-Kho Mandal’ from
the following ?

(1) Shri Kashinath Nerurkar

(2) Shri Onkar Prasad

(3) Shri B. Gopala Reddy

(4) Shri Madhavrao Patil

(5) Question not attempted

. As per International Kho-Kho
rules, how many attacker blocks in

_a Kho-Kho field ? (IKKF)

(1) Nine (2) Eight
(3) Seven (4) Six
(5) Question not attempted

. First Netaji Subhash Gold Cup

International Kho-Kho tournament
for men was organised in the year

1) 1996 (2) 1999
(3) 1997 (4) 1998
(5) Question not attempted
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125.

126.

127.

128.

129.

131.

132.

Venue of the 4th Asian Kho-Kho
Championship at

(1) Mumbai (2) Guwahati
(3) New Delhi (4) Indore
(5) Question not attempted

As per International Kho-Kho
Federation rules, width of Lobby is

(1) 2 mts. (2) 2.5 mts.
(3) 3 mts. (4) 1.5 mts.
(5) Question not attempted

In the year 1982, Kho-Kho
Federation of India introduced
yearly inter zonal championship
for men & women as

1) Federation Cup

2) Gold Cup

3 Kho-Kho Gold Cup

4) Championship Cup

5) Question not attempted
Who first drafted rules and
regulations of Kho-Kho game in India ?
(1) Shri Kashinath Nerurkar
(2) Shri Gopal Purushottam Phadke
(3) Shri B. Gopala Reddy
(4) Shri Onkar Prasad
(5) Question not attempted

What is an example of an Acute 1 m]m'y ?
1) Stress fracture

2 %pramed ankle

3 endinitis
54 Shin splints

5 Questlon not attempted
Variations in giving ‘Kho' is used by
1) Attacker

2) Active Defender

3) Sitting Attacker

4) Chaser

5) Question not attempted
Who keep the time record of dream
run and assist to the Time keeper-1 ?
(1) Umpire (2) Time keeper-2
(3) Post umpire (4) T.V. umpire
(5) Question not attempted

Measurement of entry zone as per
International Kho-Kho Federatlon

Rules
1 8mxIm (2 2mx2m
Z2mxIm 4 8mx15m

(3)
(5) Question not attempted
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133.

: 134.

135.

136.

137.

138.

Govt. of India introduced “Arjun
Award” for Kho-Kho in the year :
(1) 1982 (2) 1970

(3) 1974 (4) 1979

(5) Question not attempted

The area specially marked (2 m x 1 m)
just behind the free zone in line
with the post is known as

(1) Post Umpire Arena

(2) Post Referee Arena

(3) Post Judge Arena

(4) Substitution Arena

(5) Question not attempted

The st Asian Kho-Kho
Championship was held at

(1) New Delhi - (2) Calcutta

(3) Vijaywada (4) Dhaka

(5) Question not attempted

For a 6 attacker block playfield,
which one is the measurement of
central lane for junior girls from
the following ?

(1) 20 metre x 35 cms.

(2) 20 metre x 40 cms.

(3) 24 metre x 30 cms.

(4) 19 metre x 40 cms. .

(5) Question not attempted

The Kho-Kho game was included
first time in which South Asian

Games from the following ?

(1) 11th  South Asian Games,"

Dhaka, Bangladesh

(2) 10t South Asian Games,
Colombo, Sri Lanka

(3) Games,
Guwahati, India

(4) 13th South Asian Games,
Kathmandu, Nepal

The one and only Dronacharya

Awardee of Kho-Kho is

(1) Shri B. Gopala Reddy

(3) Shri Madhavrao Patil

(4) Shri Gopal Purushottam

Phadke

(6))

12th  South Asian
(5) Question not attempted
(2) Shri Onkar Prasad
Question not attempted
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140.

141.

142,

143.

144.

International Kho-Kho
rules, how many are numbers of
Wazir in a team ?

(1) One (2) Two

(3) Three (4) Four -
(5) Question not attempted

In which situation team coach or

captain can request referee for

ower play ?

%’1) Either at: the time of
beginning of the turn or at the
time when ingoing batch is
entering the playfield

(2) Only at the time of beginning
of the inning

(3) Only durjng the 30 seconds
break perio o2 :

24; During any time while chasing

5) Question not attempted

From the following, who is

responsible to maintain the discipline
near the team bench arena ?

Match Director

Assistant Scorer

Umpires

Dugout Officials

Question not attempted

Who was the runner-up in the
men’s and women’s teams at the
3rd Asian Kho-Kho Championship ?
(1) India (2) Nepal
(3) Korea (4) Bangladesh
(5) Question not attempted

In an international match after
getting additional point as Dream
Run, the defending team thereafter
will get more additional points on
batch survival for every below
mentioned time :

(1) For every 1 minute

(2) For every 2 minutes

(3) For every 30 seconds

(4) For every 45 seconds

(5) Question not attempted

How many TV umpires
deputed to conduct
international match ?

(1) Two (2) One °
(3) Three (4) Four
(5) Question not attempted

are
an
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145.

146.

147.

148.

149.

150.
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145.

146.

147.

148.

149.

150.

From defending side, who can
request the match referee for
review from the following ? -

(1) Concerned defender

(2) Captain

(3) Coach

(4) . Manager

(5) Question not attempted

After all 03 defenders of a batch is
being declared out, there will be a
break period of :
(1) 15seconds (2) 30 seconds
(3) 20 seconds (4) 45 seconds
(5) Question not attempted

The stadium lighting luminance at
each playfield during the flood-
light matches would be at least
(1) 300 lux (2) 200 lux

(3) 280 lux . (4) 250 lux

(5) Question not attempted

1st Khelo India Kho-Kho School
games held at

(1) Pune (2) Guwahati
(3) New Delhi (4) Mumbai
(5) Question not attempted

If multiple teams got the same

league points in the league points

table, then what will be the last

option from the following for

deciding the league standings ?

(1) The difference of total points
gain & loss

(2) Minimum chase

(3) Head to head, team that has
more wins against the each
other

(4) More number of wins

(5) Question not attempted

In Kho-Kho when follow on is

mandatory to the trailing side

team ?

(1) 20 points & more

(2) 25 points & more

(3) 18 points & more

(4) 16 points & more

(5) Question not attempted
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